
� No.124-5-1 �

No.124-5-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 14540− 9928 =

(2) 5125− 2760 =

(3) 10783− 9515 =

(4) 8709− 4799 =

(5) 16095− 9019 =

� 13th-note �



� No.124-5-1 �

No.124-5-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 14540− 9928 = 4612

(2) 5125− 2760 = 2365

(3) 10783− 9515 = 1268

(4) 8709− 4799 = 3910

(5) 16095− 9019 = 7076

� 13th-note �



� No.124-5-2 �

No.124-5-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 15103− 7653 =

(2) 4169− 1881 =

(3) 7487− 7259 =

(4) 9041− 759 =

(5) 8146− 2550 =

� 13th-note �



� No.124-5-2 �

No.124-5-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 15103− 7653 = 7450

(2) 4169− 1881 = 2288

(3) 7487− 7259 = 228

(4) 9041− 759 = 8282

(5) 8146− 2550 = 5596

� 13th-note �



� No.124-5-3 �

No.124-5-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 16473− 7497 =

(2) 11580− 3657 =

(3) 12302− 5164 =

(4) 5892− 2428 =

(5) 15960− 7396 =

� 13th-note �



� No.124-5-3 �

No.124-5-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 16473− 7497 = 8976

(2) 11580− 3657 = 7923

(3) 12302− 5164 = 7138

(4) 5892− 2428 = 3464

(5) 15960− 7396 = 8564

� 13th-note �



� No.124-5-4 �

No.124-5-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 3383− 1147 =

(2) 10171− 1401 =

(3) 2930− 398 =

(4) 10517− 5505 =

(5) 5740− 1855 =

� 13th-note �



� No.124-5-4 �

No.124-5-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 3383− 1147 = 2236

(2) 10171− 1401 = 8770

(3) 2930− 398 = 2532

(4) 10517− 5505 = 5012

(5) 5740− 1855 = 3885

� 13th-note �



� No.124-5-5 �

No.124-5-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 15873− 9878 =

(2) 9114− 7887 =

(3) 12245− 4435 =

(4) 15046− 6350 =

(5) 12946− 4600 =

� 13th-note �



� No.124-5-5 �

No.124-5-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 15873− 9878 = 5995

(2) 9114− 7887 = 1227

(3) 12245− 4435 = 7810

(4) 15046− 6350 = 8696

(5) 12946− 4600 = 8346

� 13th-note �



� No.124-5-6 �

No.124-5-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 12667− 8402 =

(2) 992− 615 =

(3) 3147− 718 =

(4) 11674− 6565 =

(5) 13001− 9024 =

� 13th-note �



� No.124-5-6 �

No.124-5-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 12667− 8402 = 4265

(2) 992− 615 = 377

(3) 3147− 718 = 2429

(4) 11674− 6565 = 5109

(5) 13001− 9024 = 3977

� 13th-note �



� No.124-5-7 �

No.124-5-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 8870− 3651 =

(2) 5325− 3726 =

(3) 6828− 5114 =

(4) 9316− 5053 =

(5) 9975− 9308 =

� 13th-note �



� No.124-5-7 �

No.124-5-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 8870− 3651 = 5219

(2) 5325− 3726 = 1599

(3) 6828− 5114 = 1714

(4) 9316− 5053 = 4263

(5) 9975− 9308 = 667

� 13th-note �



� No.124-5-8 �

No.124-5-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 9577− 6805 =

(2) 13119− 5960 =

(3) 12537− 9510 =

(4) 4335− 2214 =

(5) 15256− 5956 =

� 13th-note �



� No.124-5-8 �

No.124-5-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 9577− 6805 = 2772

(2) 13119− 5960 = 7159

(3) 12537− 9510 = 3027

(4) 4335− 2214 = 2121

(5) 15256− 5956 = 9300

� 13th-note �



� No.124-5-9 �

No.124-5-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 13462− 6196 =

(2) 6747− 3021 =

(3) 2152− 566 =

(4) 16719− 8973 =

(5) 6844− 3049 =

� 13th-note �



� No.124-5-9 �

No.124-5-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 13462− 6196 = 7266

(2) 6747− 3021 = 3726

(3) 2152− 566 = 1586

(4) 16719− 8973 = 7746

(5) 6844− 3049 = 3795

� 13th-note �



� No.124-5-10 �

No.124-5-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 10136− 1082 =

(2) 18764− 8876 =

(3) 7519− 7330 =

(4) 1254− 48 =

(5) 16673− 8547 =

� 13th-note �



� No.124-5-10 �

No.124-5-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 20点）

(1) 10136− 1082 = 9054

(2) 18764− 8876 = 9888

(3) 7519− 7330 = 189

(4) 1254− 48 = 1206

(5) 16673− 8547 = 8126

� 13th-note �


